
CHEMISTRY

BOOKS - BITSAT GUIDE

GENERAL ORGANIC CHEMISTRY

Practise Exercise

1. Which of the following are aromatic compounds ? 

https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_pqWNUH6T6eQp


A. I and III

B. I, II and III

C. I, II and IV

D. III, and IV

Answer: C

Watch Video Solution

2.  carbon is present in the compound

A. cyclopropane

B. toluene

C. benzene

3∘

https://dl.doubtnut.com/l/_pqWNUH6T6eQp
https://dl.doubtnut.com/l/_glOdL3cK3K2i


D. cyclohexane

Answer: B

Watch Video Solution

3. choose the compound in which all the carbon atoms

have  p-charater.

A. 

B. 

C. 

D. 

Answer: C

66.7 %

CH3 − C ≡ CH

CH2 = C = CH − CH3

CH2 = CH − CH = CH2

(CH3)2C = CH2

https://dl.doubtnut.com/l/_glOdL3cK3K2i
https://dl.doubtnut.com/l/_ysXP6uQmjYhJ


Watch Video Solution

4. The bond between carbon atom (1) and carbon atom

(2) in compound 

A.  and  hybridised

B.  and  hybridised

sp3 sp2

sp2 sp3

https://dl.doubtnut.com/l/_ysXP6uQmjYhJ
https://dl.doubtnut.com/l/_HG1IpQQgm5u4


C. sp and  hybridised

D. sp and sp hybridised

Answer: C

Watch Video Solution

sp2

5. Electronegativity of carbon atoms depends upon their

state of hybridisation in which of the following

compounds the carbon marked asterisk, is most

electronegative ?

A. 

B. 

C. 

CH3 − CH2 − CH2 − CH3

CH3 − CH = CH − CH3

CH3 − CH2 − C ≡ CH

https://dl.doubtnut.com/l/_HG1IpQQgm5u4
https://dl.doubtnut.com/l/_0lZGWJ7dd67u


D. 

Answer: C

Watch Video Solution

CH3 − CH2 − CH = CH2

6. The hybridisation of  carbon atom present in 


A. sp

B. 

C. 

D. 

Answer: A

C2

3

CH2 =
2

C =
1

CH2

sp3

sp2

sp4

https://dl.doubtnut.com/l/_0lZGWJ7dd67u
https://dl.doubtnut.com/l/_NhGltCozuTso


Watch Video Solution

7. The kind of valency that exists in  and  is

A. electrovalency in  and convalency in 

B. electrovalency in both

C. covalency in  and electrovalency in 

D. covalency in both

Answer: A

Watch Video Solution

CaH2 C2H2

CaH2 C2H2

CaH2 C2H2

https://dl.doubtnut.com/l/_NhGltCozuTso
https://dl.doubtnut.com/l/_pQNnuOd0trn7


8. 3 - methyloctance can be represented in which of the

following forms ?

A. 

B. 

C. 

D. All of the above

Answer: D

Watch Video Solution

CH3CH2CH(CH2)4CH3

∣

CH3

https://dl.doubtnut.com/l/_kJm01OM8EMxO


9. Which of the following is a heterocyclic alicyclic

compound ?

A. 

B. 

C. 

https://dl.doubtnut.com/l/_fcw7chdnvQs9


D. 

Answer: C

Watch Video Solution

10. The IUPAC name of the isomer of

 would be

A. methanamide

B. 1-amino 2- propanone

C. ethanamide

CH3 − CH = NOH

https://dl.doubtnut.com/l/_fcw7chdnvQs9
https://dl.doubtnut.com/l/_aTG0RHU8PCVB


D. none of the above

Answer: C

Watch Video Solution

11. Pyruvic aldehyde is nothing but

A. methyl glyoxal

B. ethyl glyoxal

C. glyoxal

D. None of the above

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_aTG0RHU8PCVB
https://dl.doubtnut.com/l/_QHD8zGfnOF1S


12. The IUPAC name of the following compound is 

A. 4-ethyl -3- propyl hex-1-ene

B. 3-(1-ethylpropy)hex-1-ene

C. 3-ethyl-4-propyl hex-5-ene

D. 3-ethyl-4ethylheptane

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_QHD8zGfnOF1S
https://dl.doubtnut.com/l/_YM4dxOUbZZPP


13. The correct IUPAC name of 

A. 6-methyl-3- phenyl benzene-1-oic acid

B. 6-methyl dibenzene-1-oic acid

C. 3-(3-methyl phenyl) benzene -1- oic acid

D. 3-(5-methyl phenyl) benzene -1- carboxylic acid

Answer: C

Watch Video Solution

https://dl.doubtnut.com/l/_YM4dxOUbZZPP
https://dl.doubtnut.com/l/_gJMJ0i3Pc7CM


14. The IUPAC name of 

 is

A. 1-alkoxycyclopent-1-ene

B. oxocyclohex-2-ene

C. 2-methoxycyclopent-1-ene

https://dl.doubtnut.com/l/_gJMJ0i3Pc7CM
https://dl.doubtnut.com/l/_avuQpwM54IJS


D. 5-oxocyclopent-1-ene

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_avuQpwM54IJS


15. The IUPAC name of the compound shown below is 

A. 2-bromo-6-chlorocyclohex-1-ene

B. 6-bromo-2- chlorocyclohexene

C. 3-bromo-1-chlorocyclohexene

https://dl.doubtnut.com/l/_QOxPeudsuALV


D. 1-bromo-3-chlorocyclohexene

Answer: C

Watch Video Solution

16. What is the correct IUPAC name of the following

compound ? 

A. 3-ethyl-1 1-dimethylyclohexane

https://dl.doubtnut.com/l/_QOxPeudsuALV
https://dl.doubtnut.com/l/_fwNnis23V308


B. 1-ethyl-3, 3-dimethylcyclohexane

C. 1,1-diemthyl-3 ethylcyclohexane

D. None of the above

Answer: A

Watch Video Solution

17. The correct IUPAC name of the given structures will be 

I.  


II. CH-=C-CH=CH-CH=CH_(2)` 

Choose the correct option.

A. 

CH3 −

O

∣ ∣

C − CH2 − CH2 − CH2 − COOH

      I                             II

Hexane-dione        Hexa-1 3-diene-5-yne    

https://dl.doubtnut.com/l/_fwNnis23V308
https://dl.doubtnut.com/l/_FkCD4xo53Wtn


B. 

C. 

D. 

Answer: B

Watch Video Solution

      I                                        II

5-oxohexanoic acid        Hexa-1 3-diene-5-yne    

      I                                        II

5-oxohexanoic acid        Hexadiene-5-yne    

      I                                        II

3-oxohexanoix acid        Hexadiene-5-yne    

18. The IUPAC name of 

A. ethypentanoate

B. 1-ethoxy-2-pentanone

https://dl.doubtnut.com/l/_FkCD4xo53Wtn
https://dl.doubtnut.com/l/_BUSJVrUifRGk


C. 5-ethoxy-4-pentanone

D. ethyl -2- oxopentyl ether

Answer: B

Watch Video Solution

19. The IUPAC name of 

A. 2-acetyl-1-buten-1-ol

https://dl.doubtnut.com/l/_BUSJVrUifRGk
https://dl.doubtnut.com/l/_ucvdpZOZ8Uld


B. 3-(hydroxymethy)3-penten-2-one

C. 3-ethylidence-4-hydroxy-2-butanone

D. 3-acetyl-2-buten-4-ol

Answer: B

Watch Video Solution

20. Which skeleton exhibit optical isomerism?

A. 

B. 

C. 

C − C − C − C − COOH

C − −
∣

C

C − COOH

https://dl.doubtnut.com/l/_ucvdpZOZ8Uld
https://dl.doubtnut.com/l/_ojYvYdmb1M2b


D. 

Answer: B

Watch Video Solution

C −

C

∣

C
∣

C

− COOH

21. In which isomer of  there are two functional

groups ?

A. Phenyl nitromethane

B. m- nitrotoluene

C. Anthranillic acid

D. Benzylnitrite

C7H7NO2

https://dl.doubtnut.com/l/_ojYvYdmb1M2b
https://dl.doubtnut.com/l/_jc6hNraoaNA8


Answer: C

Watch Video Solution

22. The pair of functional group isomers is

A. 

B. 

C. 

D. All of the above

Answer: C

Watch Video Solution

C
∣

NH2

H2CHO

CH3COOHHCOOCH3

CH3 − CH2OHCH3OCH3

https://dl.doubtnut.com/l/_jc6hNraoaNA8
https://dl.doubtnut.com/l/_zRbYfM663Mmp
https://dl.doubtnut.com/l/_AoxKyH9W6KM6


23. The compound  does not exhibit the

which of the following isomerism?

A. Chain

B. Geometrical

C. Position

D. Optical

Answer: D

Watch Video Solution

CnH2n[n = 4]

24. Geometrical isomerism is shown by

https://dl.doubtnut.com/l/_AoxKyH9W6KM6
https://dl.doubtnut.com/l/_ZcnBHPUUeH5B


A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

25. The compound 2,3- dichlorobutane exhibits

A. geometrical isomerism

https://dl.doubtnut.com/l/_ZcnBHPUUeH5B
https://dl.doubtnut.com/l/_yCXLYB7NfbX5


B. diastereoisomerism

C. structural isomerism

D. optical isomerism

Answer: D

Watch Video Solution

26. The number of constitutional isomers of the formula

 Br is

A. 4

B. 8

C. 6

C5H11

https://dl.doubtnut.com/l/_yCXLYB7NfbX5
https://dl.doubtnut.com/l/_RXnm4zlrkitD


D. 10

Answer: B

Watch Video Solution

27. How many optical isomers are possible on

monochlorination of 2-methyl butane?

A. 2

B. 4

C. 6

D. 10

Answer: B

https://dl.doubtnut.com/l/_RXnm4zlrkitD
https://dl.doubtnut.com/l/_mmCwpoyEkzzv


Watch Video Solution

28. The structural formula of 2-oxo-3-methyl-(N-bromo)

butanamide is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

CH3 − CH2 − CO − CO − NH − Br

           CH3

             |

CH3 − CH − CO − CO − NH − Br

                                      CH3

                                           |

CH3CH − CO − CO − NOBr

(CH3)3C − CO − CO − NHBr

https://dl.doubtnut.com/l/_mmCwpoyEkzzv
https://dl.doubtnut.com/l/_D0LpfI6qaPkq
https://dl.doubtnut.com/l/_e6q8M5LOpv2V


29. Match the items of column I with the column II and

choose the correct option from the codes given below. 

A. 

B. 

C. 

D. 

Answer: D

A    B    C      D

1      2    3      4

A    B    C      D

2      3    1      4

A    B    C      D

4      1    2      3

A    B    C      D

1      2    4      3

https://dl.doubtnut.com/l/_e6q8M5LOpv2V


Watch Video Solution

30. Example of geometrical isomerism is

A. 2-butanol

B. 2-butene

C. butanol

D. 2-butyne

Answer: B

Watch Video Solution

https://dl.doubtnut.com/l/_e6q8M5LOpv2V
https://dl.doubtnut.com/l/_2a4AtlHkpqlF


31. Among the following four structures I to IV 

I  


II  


III  


IV  it is true that

A. all four are chiral compounds

B. I and II are chiral compounds

C. III is a chiral compounds

D. II and IV are chiral compounds

Answer: B

           CH3

              ∣

C2H5 − CH − C3H7

           O  CH3

             ||          |

CH3 − C − CH − C2H5

H −

H

∣

C ⊕

∣

H
CH3

∣

C2H5 −CH −C2H5

https://dl.doubtnut.com/l/_YCMskLumtOb1


Watch Video Solution

32. The correct statement about the compounds A, B and

C is 

A. A and B are identical

B. A and B are siastereomers

C. A and C are enatiomers

D. A and B are enantiomers

Answer: D

https://dl.doubtnut.com/l/_YCMskLumtOb1
https://dl.doubtnut.com/l/_LnknSE0kBlVQ


Watch Video Solution

33. If  Carbanion would be

A. 

B. 

C. 

D. All of these

Answer: C

Watch Video Solution

CH3 −CH −CHO

∣
CH3

34. In which case, lonic mechanism is not followed ?

https://dl.doubtnut.com/l/_LnknSE0kBlVQ
https://dl.doubtnut.com/l/_PZ8rC5RaQhn3
https://dl.doubtnut.com/l/_ce27G1XQHuk1


A. Reaction of acetylene and bromine water

B. Reaction of HBr and propene in the presence of

peroxide

C. Reaction of ethyl bromine and alcoholic KOH

D. Dehydration of ethyl alcohol catalysed by acid

Answer: B

Watch Video Solution

35. Which compound is more sensitive to undergo  1

reaction?

A. 2-bromobutane

SN

https://dl.doubtnut.com/l/_ce27G1XQHuk1
https://dl.doubtnut.com/l/_VMWgXehRNkXd


B. 2-bromo-2-methyl propane

C. 2-methyl-1-bromo propane

D. Bromoethane

Answer: B

Watch Video Solution

36. The enolic form of acetone contains:

A. -bonds and 1 lone pair of electron

B. -bond and 1 lone pair of eletrons

C. -bond and 2 lone pairs of electrons

D.  bonds and 2 lone pairs of electrons

9σ − bonds2π

10σ − bonds1π

9σ − bonds1π

8σ − bonds2π

https://dl.doubtnut.com/l/_VMWgXehRNkXd
https://dl.doubtnut.com/l/_GTAGLyXMB39Z


Answer: C

Watch Video Solution

37. Consider the following carbocations 

I  

II  


III  


IV  


The correct order for the stability of the above

carbocations is

A. 

B. 

+
(CH3 ) 3CCH2

(CH3)3C
+

             +

CH3CH2CH2

             +

CH3 − CH − CH3

I > III > IV > II

III > IV > I > II

https://dl.doubtnut.com/l/_GTAGLyXMB39Z
https://dl.doubtnut.com/l/_6po7oCXsVuJ5


C. 

D. 

Answer: A

Watch Video Solution

IV > III > II > I

II > IV > III > I

38. The solvent in which enol form of ethylacetoacetate is

maximum is

A. 

B. aqueous HCI

C. n-hexane

D. 

CH3COOH

H2O

https://dl.doubtnut.com/l/_6po7oCXsVuJ5
https://dl.doubtnut.com/l/_rLjbG529Aqck


Answer: C

View Text Solution

39. Which among the following compounds will give

maximum enol content in solution?

A. 

B. 

C. 

D. 

Answer: D

C6H5 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − CH3

CH3 −

O

∣ ∣

C − CH2 −

O

∣ ∣

C − CH3

CH3 −

O

∣ ∣

C − CH2 − CH2CH3

CH3 −

O

∣ ∣

C − CH2 − COOC2H5

https://dl.doubtnut.com/l/_rLjbG529Aqck
https://dl.doubtnut.com/l/_qEoenBC9FZ8C


Watch Video Solution

40. What is the correct order of decreasing stability of

the following cations ? 

 

II  

III 

A. 

B. 

C. 

D. 

Answer: A

h id l i

⊕
CH3 −CH −CH3

⊕
CH3 −CH −OCH3

⊕
CH3 −CH −CH2 −OCH3

II > I > III

II > III > I

III > I > II

I > II > III

https://dl.doubtnut.com/l/_qEoenBC9FZ8C
https://dl.doubtnut.com/l/_e2Hqe49Jyd77


Watch Video Solution

41. The increasing order of stability of the following free

radicals is:

A. 

B. 

C. 

D. 

(CH3)
2

.

CH < (CH3)
3

.

C < (C6H5)
3

.

C < (C6H5)
2

.

CH

(C6H5)
2

.

CH < (C6H5)
3

.

C < (CH3)
3

.

C < (CH3)
2

.

CH

(C6H5)
3

.

C < (C6H5)
2

.

CH < (CH3)
3

.

C < (CH3)
2

.

CH

(CH3)
2

.

CH < (CH3)
3

.

C(C6H5)
2

.

CH < (C6H5)
3

.

C

https://dl.doubtnut.com/l/_e2Hqe49Jyd77
https://dl.doubtnut.com/l/_n5BL7BfvykZp


Answer: D

Watch Video Solution

42. Which one of the following species is not an

electropile?

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

+
NO2

H3O
+

CI +

BH3

https://dl.doubtnut.com/l/_n5BL7BfvykZp
https://dl.doubtnut.com/l/_N3WQiHWdOcCD


43. The correct decreasing order of priority for the

functional groups of organic compounds in the IUPAC

system of nomenclature is

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−CONH2 > − CHO > − SO3H > − COOH

−COOH > − SO3H > − CONH2 > − CHO

−SO3H > − COOH > − CONH2 > − CHO

−CHO > COOH > − SO3H > − CONH2

https://dl.doubtnut.com/l/_N3WQiHWdOcCD
https://dl.doubtnut.com/l/_cYkfXBlnvaTp


44. Correct order of nucleophilicity is

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

CH −
3 < NH −

2 < OH − < F −

F − < OH − < CH −
3 < NH −

2

OH − < NH −
2 < F − < CH −

3

F − < OH − < NH −
2 < CH −

3

45. Consider the following transformations 

I  


 


CH −
3 →

CH −
3 X →

https://dl.doubtnut.com/l/_cXVbqDCbfo9v
https://dl.doubtnut.com/l/_Aruwwxrv6awg


III  


Carbon species formed in I, II and III respectively are

A. carbocation, carbanion and free radical

B. free radical, carbocation, and carbanion

C. free radical, carbanion and carbocation

D. carbanion, carbocation and free radical

Answer: B

Watch Video Solution

CH −
3 X →

46. Which is the most stable carbocation?

A. 

https://dl.doubtnut.com/l/_Aruwwxrv6awg
https://dl.doubtnut.com/l/_Tpqauv28xGQ2


B. 

C. 

D. 

Answer: C

Watch Video Solution

47. Select the correct statement about the following

reaction 

https://dl.doubtnut.com/l/_Tpqauv28xGQ2
https://dl.doubtnut.com/l/_6YMaTICJ9wEs


A. it can proceed via  2 mechanism

B. configuration about chiral carbon is retained

C. a racemic mixture is formed

D. reaction is stereospecific

Answer: A

Watch Video Solution

SN

https://dl.doubtnut.com/l/_6YMaTICJ9wEs


48. Consider the following reactions: 

View Text Solution

49. Arrange the following in increasing order of acidic

strength 

I.  

II.  


H2SO4

(CH3)3CH(SH)

https://dl.doubtnut.com/l/_et7pjYrGGWlW
https://dl.doubtnut.com/l/_RqPjbrMqn14f


III.  


IV. 

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3CH
+

2 OH2

CH3CH2CH3

IV < II < I < III

IV < II < III < I

IV < I < II < III

IV < III < II < I

50. Choose the correct order of stability of carbocation

using concept of hyperconjugation 

https://dl.doubtnut.com/l/_RqPjbrMqn14f
https://dl.doubtnut.com/l/_ELR0vK3oOZwu


I  


II.  


III.  


IV 

A. 

B. 

C. 

D. All of the above

Answer: B

Watch Video Solution

CH3 −

CH3

∣

C ⊕

∣

CH3

CH3 −

CH3

∣

C ⊕

∣

H

CH3

⊕

CH2

⊕

CH3

I < II < III < IV

IV < III < II < I

III < IV < II < I

https://dl.doubtnut.com/l/_ELR0vK3oOZwu
https://dl.doubtnut.com/l/_8lvLbHEjoj9t


51. Chloroacetic acid is a stronger acid than acetic acid

this can be explained using

A. 

B. 

C. 

D. 

Answer: B

Watch Video Solution

−M − effect

− l − effect

+M − effect

+ l − effect

52.  undergoes homolytic fission to produce

A.  and 

CH3CH2Cl

CH3

.

CH2

.

CI

https://dl.doubtnut.com/l/_8lvLbHEjoj9t
https://dl.doubtnut.com/l/_sw7m6X77xgYP


B. 

C. 

D. 

Answer: A

Watch Video Solution

CH3

⊕

CH2 and CI −

CH3

⊕

CH2 and
.

CI

CH3

.

CH2 and CI −

53. Which alkenol is stable ?

A. 

B. 

C. 

D. All of these

CH2 = CH − CH2 − OH

CH2 = CHOH

CH3 − C
∣

CH3

= CH − OH

https://dl.doubtnut.com/l/_sw7m6X77xgYP
https://dl.doubtnut.com/l/_leElc7DqTpjV


Answer: B::C

Watch Video Solution

54. Which of the following is not a free radical ?

A. 

B. 

C. 

D. 

Answer: C

Watch Video Solution

CI .

(C6H5)2

.

CH

:CCI2

(CH3)2

.

CH

https://dl.doubtnut.com/l/_leElc7DqTpjV
https://dl.doubtnut.com/l/_nCFdatQVH5xG
https://dl.doubtnut.com/l/_t7Oql83ko0Up


55. Among the following, the least stable resonance

structure is :

A. 

B. 

C. 

D. 

Answer: A

Watch Video Solution

https://dl.doubtnut.com/l/_t7Oql83ko0Up
https://dl.doubtnut.com/l/_eyYXrh6YpekD


Bitsat

56. Carbocation stability 

 


Alkyl radical stability

A. 

B. 

C. 

D. 

Answer: D

Watch Video Solution

+

CH3 < CH3

+

CH2 < (CH3)2

+

CH < (CH3)3

+

C :

.

CH(CH3)2 <
.

CH3 <
.

CH2CH3 <
.

C(CH3)3

.

C(CH3)3 <
.

CH(CH3)2 <
.

CH3 <
.

CH2CH3

.

C(CH3)3 <
.

CH(CH3)2 <
.

CH2CH3 <
.

CH3

.

CH3 <
.

CH2CH3 <
.

CH(CH3)2 <
.

C(CH3)3

https://dl.doubtnut.com/l/_eyYXrh6YpekD
https://dl.doubtnut.com/l/_QraChbHAknRy


1. Which of the following is correct order of stability of

carbocation? 

A. 

B. 

C. 

D. 

Answer: d

Watch Video Solution

IV > III > II > I

I > II > III > IV

III > II > I > IV

I > III > II > IV

https://dl.doubtnut.com/l/_QraChbHAknRy


2. Arrange these in correct order of decreasing reactivity 

A. 

B. 

C. 

D. 

Answer: c

I > II > III > IV

I > III > II > IV

IV > III > II > I

IV > III > I > II

https://dl.doubtnut.com/l/_QraChbHAknRy
https://dl.doubtnut.com/l/_CzIjkVMPjLJz


Watch Video Solution

3. In which of the following species only one type of

hybridisation is present ?

A. 

B. 

C. 

D. 

Answer: c

Watch Video Solution

CH3 − CH2 − CH = CH2

CH3 − CH = CH − CH2

CH2 = CH − CH − CH2

CH3 − CH = CH − CH −
2

https://dl.doubtnut.com/l/_CzIjkVMPjLJz
https://dl.doubtnut.com/l/_cyDHthwWx7Au


4. Which among the following is likely to show

geometrical isomerism?

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

CH3CH = NOH

CH3CH = CH2

CH2 = CH − CH = CCI2

CH3C(CI) = C(CH3)2

5. The bond dissociation enthalpies of 

 ≡ C
sp
H ≡ C

sp2
H − C

sp3

H

https://dl.doubtnut.com/l/_Qxturg3QQyus
https://dl.doubtnut.com/l/_Yes4lUsH05d4


follows the order

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

sp > sp2 > sp3

sp3 > sp2 > sp

sp2 > sp > sp3

sp > sp3 > sp2

6. Most stable carbonium ion is :

A. 

https://dl.doubtnut.com/l/_Yes4lUsH05d4
https://dl.doubtnut.com/l/_ehJG9cIwQynO


B. 

C. 

D. 

Answer: b

Watch Video Solution

7. Find the correct IUPAC name for the following structure

:

https://dl.doubtnut.com/l/_ehJG9cIwQynO
https://dl.doubtnut.com/l/_aiKTu6scFKJY


A. 2- phenylbutane

B. 3- phenylbutane

C. 3-cyclohexylbutane

D. 2- cyclohexylbutane

Answer: d

Watch Video Solution

8. The IUPAC name of

A. ethoxypropane

https://dl.doubtnut.com/l/_aiKTu6scFKJY
https://dl.doubtnut.com/l/_to0HZL9Du0Dm


B. 1,1-dimethy ether

C. 2- ethoxysopropane

D. 2- ethoxypropane

Answer: d

Watch Video Solution

9. The IUPAC name of the compound 

A. 2-amino -3- hydroxy propanoic acid

B. 1- hydorxy -2- amino propane -3- oic acid

C. 1- amino-2- hydroxy propanioc acid

C
∣

OH

H2 − C
∣

NH2

H − COOH

https://dl.doubtnut.com/l/_to0HZL9Du0Dm
https://dl.doubtnut.com/l/_ty7rSbMJlFi0


D. 3-hydroxy-2- amino propanoic acid

Answer: a

Watch Video Solution

10. The compound which give the most stable carbonium

ion on dehydration is

A. 

B. 

C. 

D. 

Answer: b

CH3CH(CH3)CH2OH

(CH3)3COH

CH2 = CHCH2CH2OH

CH3CHOHCH2 − CH3

https://dl.doubtnut.com/l/_ty7rSbMJlFi0
https://dl.doubtnut.com/l/_tvpGM79MNedS


Watch Video Solution

11. Tautomerism is exhibited by

A. 

B. 

C. 

D. 

Answer: a

Watch Video Solution

https://dl.doubtnut.com/l/_tvpGM79MNedS
https://dl.doubtnut.com/l/_i6GIauTSQwMe
https://dl.doubtnut.com/l/_PPx4bYYhnkBF


12. The compounds whose stereochemical formula is

written below exhibits x geometrical isomers and y

optical isomers. 

 

The values of x and y are

A. 4 and 4

B. 2 and 2

C. 2 and 4

D. 4 and 5

Answer: b

Watch Video Solution

https://dl.doubtnut.com/l/_PPx4bYYhnkBF


Watch Video Solution

13. The IUPAC name of the following compound is 

A. 3,5- dimethylcylohexene

B. 3,5-dimethyl-1- cyclohexena

C. 1,5-dimethyl-5-cyclohexene

D. 1,3-dimethyl-5- cyclohexene

Answer: a

https://dl.doubtnut.com/l/_PPx4bYYhnkBF
https://dl.doubtnut.com/l/_uZI0OQlsbgxG


Watch Video Solution

https://dl.doubtnut.com/l/_uZI0OQlsbgxG

